Rl F 100 B E AT 0 (L) 458~ F AL
SRR L R R SF A
ﬁip :g-‘%’ﬁip (Fimd ~d4 v #4 xwgms - H4)

ARER
(1) BFFp (Find B4 4 bguss ~ #4434 p 15487 f:gg5ggrgf§)
(2) 38 FEX+AARAS S5 F AP E § R AQER QR R 55 A

w2 AP A e o

~ A B8 k2 1ag b ok (low-speed open-circuit subsonic wind tunnel) - # » i‘g’:‘?]éﬁﬁ;
B R g % 9 (Contractionratio: 9 : 1) . Ak F » T 2 PIEEPQ *k*ﬁ Pitot tube. % ip| £
@0 FHE TR R AREEA S 30m/s b iE e 7RISR R R (20% )
(1). #3 4 Pitottube 25 » I 2 Bernoulli’s principle P 4oim & Bl b & o
(2). %Pitottube =% >4+ 2 5 BIH TR Pl R4 & % P Pa(N/m?) ?
(3). % RIFAER#EF 30MSHF > P T ER LW T
(hint: & = F=% 3R+ 4 1*10°Pa- 2 & 5 1.23kg/m®) ?

S TR TR SWS10MnR P P AU X2y, ashm ok siE 5 D=4m o & fok $
Fﬁ F’Bhl-l-’] 1;\, IT:-)}" 34 mj\—l P4 i— Av\ﬂ (20%)

y

A

= -~ Consider the velocity field given by V, =y/(x* +y?)and V, =-x/(x* +y?). Calculate the

equation of the streamline passing through the point (0,5). (20%)
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~ Arod OA rotates in the horizontal plane with & =t?rad. At the same time, the collar B slides

along the smooth rod OA with r =100t mm. The parameter t is in seconds. Determine the
velocity and acceleration of the collar whent=1s.  (20% )
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= ~ At a given instant, the cylinder of radius r has an angular velocity o and angular acceleration
o.. Determine the velocity and acceleration of its center G and the acceleration of the contact

point at A if it rolls without slipping. (20%)
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